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2 &! Wi < T Sétze Diff | Punkte T.Seidel/M.Sander 2 J.Heidler/I.Kloss 0 - J.Heidler/l.Kloss 2 J.Heidler/I.Kloss 0
T.Seidel/M.Sander 0 210 0| 8 7 1 8 6 0 0 R.Luttmann/N.Assmann 2| | 0 0 E.Steinbecher/W.Rybinski| 2
V.Czuberny/M.Kothe 0 2 013 : 3 10 |12 2
J.Heidler/l.Kloss 0|0 2 0|4 : 10| -6 4 10 V.Czuberny/M.Kothe 2 -EASteinbecherl\N.Rybinski 2 T.Seidel/M.Sander 0 - T.Seidel/M.Sander 2
R.Luttmann/N.Assmann 0|2 : 1|2 014 : 1 13 |14 : 0 H.Hobirk/T.Sandmeier 1 | | 0 0 V.Czuberny/M.Kothe 2 | | H.Hobirk/T.Sandmeier 1
E.Steinbecher/W.Rybinski 2|0 2|2 0| 4 : 10| -6 4 10
A.Schmitt/M.Leitritz 2|0 2|2 0| 7 8 -1 6 8 J.Heidler/I.Kloss 0 - V.Czuberny/M.Kothe 2 - J.Heidler/Il.Kloss 0 - A.Schmitt/M.Leitritz 2
H.Hobirk/T.Sandmeier 211 : 2|2 010 : 7 3 8 6 A.Schmitt/M.Leitritz 2 | | J.Heidler/l.Kloss 0 | | H.Hobirk/T.Sandmeier 2 | | 0 0
0 2|0 2|0 0 14| -14 [ O 14
R.Luttmann/N.Assmann | 2 - A.Schmitt/M.Leitritz 1 - V.Czuberny/M.Kothe 2 - T.Seidel/M.Sander 0
Sieger E.Steinbecher/W.Rybinski| 0 | | H.Hobirk/T.Sandmeier 2 | | A.Schmitt/M.Leitritz 0 | | J.Heidler/l.Kloss 2
Teilnehmer 1: T.Seidel/M.Sander R.Luttmann/N.Assmann
2 Platz H.Hobirk/T.Sandmeier 2 T.Seidel/M.Sander 0 - R.Luttmann/N.Assmann | 2 R.Luttmann/N.Assmann | 2
Teilnehmer 2: V.Czuberny/M.Kothe V.Czuberny/M.Kothe 0 0 R.Luttmann/N.Assmann | 2 | | 0 0 A.Schmitt/M.Leitritz 0
3. Platz
Teilnehmer 3: J.Heidler/l.Kloss H.Hobirk/T.Sandmeier T.Seidel/M.Sander 2 -EASteinbecherl\N.Rybinski 0 - T.Seidel/M.Sander 2 -EASteinbecherl\N.Rybinski 0
4. Platz A.Schmitt/M.Leitritz 0 | | A.Schmitt/M.Leitritz 2 | |E.SteinbecherNV.Rybinski 0 | | H.Hobirk/T.Sandmeier 2
Teilnehmer 4: R.Luttmann/N.Assmann T.Seidel/M.Sander
5. Platz V.Czuberny/M.Kothe 2 - R.Luttmann/N.Assmann | 2 - V.Czuberny/M.Kothe 1 - V.Czuberny/M.Kothe 2
Teilnehmer 5: E.Steinbecher/W.Rybinski A.Schmitt/M.Leitritz E.Steinbecher/W.Rybinski| 0 | | H.Hobirk/T.Sandmeier 0 | | R.Luttmann/N.Assmann | 2 | | 0 0
6. Platz
Teilnehmer 6: A.Schmitt/M.Leitritz J.Heidler/I.Kloss
7. Platz
Teilnehmer 7: H.Hobirk/T.Sandmeier E.Steinbecher/W.Rybinski
8. Platz
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a S = & Satze Diff Punkte | Platz P-Schénreich/M.Knéller | 2 T.Sommer/A.Ascher 0 - T.Sommer/A.Ascher 2 T.Sommer/A.Ascher 2
P-Schénreich/M.Knéller 2 0| 2 012 : 4 8 12 @ 2 2 0 0 R.Steinberg/M.Kluth 2 | | 0 0 A.Bauer/M.Haimerl 0
A.Wekkeli/D.Wrobel 2 0 010 : 5 5 10 : 4 3
T.Sommer/A.Ascher 212 0 0|9 : 6 3 8 6 4 A.Wekkeli/D.Wrobel 2 - A.Bauer/M.Haimerl 2 P-Schénreich/M.Knéller | 2 - P-Schénreich/M.Knéller | 2
R.Steinberg/M.Kluth 210 : 2 2 0| 7 8 =l 6 8 5 0 | | 0 0 A.Wekkeli/D.Wrobel 0 | | 0
A.Bauer/M.Haimerl 2|0 2|0 0| 6 8 -2 6 8 6
O.Berger/P.Kahle o1 : 2|2 013 : 2 1 |12 @ 2 1 T.Sommer/A.Ascher 0 - A.Wekkeli/D.Wrobel 0 - T.Sommer/A.Ascher 2 - O.Berger/P.Kahle 2
210 2|0 0|2 : 12| -10 | 2 12 7 O.Berger/P.Kahle 2 | | T.Sommer/A.Ascher 2 | | 0 | | 0 0
0 2|0 2|0 0 14| -14 | O 14 8
R.Steinberg/M.Kluth 0 - O.Berger/P.Kahle 2 - A.Wekkeli/D.Wrobel 2 - P-Schonreich/M.Knéller | 2
Sieger A.Bauer/M.Haimer| 2 | | 0 | | O.Berger/P.Kahle 1 | | T.Sommer/A.Ascher 1
Teilnehmer 1: P-Schénreich/M.Knéller O.Berger/P.Kahle
2 Platz 2 P-Schonreich/M.Knéller | 2 - R.Steinberg/M.Kluth 2 R.Steinberg/M.Kluth 0
Teilnehmer 2: A.Wekkeli/D.Wrobel P-Schénreich/M.Knéller 0 0 R.Steinberg/M.Kluth 1 | | 0 0 O.Berger/P.Kahle 2
3. Platz
Teilnehmer 3: T.Sommer/A.Ascher A.Wekkeli/D.Wrobel P-Schénreich/M.Knoller | 0 - A.Bauer/M.Haimerl 0 - P-Schénreich/M.Knoller | 2 - A.Bauer/M.Haimerl 2
4. Platz 0O.Berger/P.Kahle 2 | | O.Berger/P.Kahle 2 | | A.Bauer/M.Haimer| 0 | | 0
Teilnehmer 4: R.Steinberg/M.Kluth T.Sommer/A.Ascher
5. Platz A.Wekkeli/D.Wrobel 2 - R.Steinberg/M.Kluth 2 - A.Wekkeli/D.Wrobel 2 - A.Wekkeli/D.Wrobel 2
Teilnehmer 5: A.Bauer/M.Haimerl R.Steinberg/M.Kluth A.Bauer/M.Haimerl 0 | | 0 | | R.Steinberg/M.Kluth 0 | | 0 0
6. Platz
Teilnehmer 6: O.Berger/P.Kahle A.Bauer/M.Haimerl
7. Platz
8. Platz




H.Meyer/B,Rodehau
C.Pati/S.Schneider
D.Dippel/R.Dippel

A.Aukam/T.Miiller

M.Goldbach/M.Meger

R.Boost/U.Kruggel
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Satze Diff H.Meyer/B,Rodehau 2 D.Dippel/R.Dippel 0 - D.Dippel/R.Dippel 2 D.Dippel/R.Dippel 2
H.Meyer/B,Rodehau 1 2|2 0 2 013 : 4 9 0 0 A.Aukam/T.Miiller 2 | | 0 0 M.Goldbach/M.Meger 1
C.Pati/S.Schneider 2 1 2 1 2 0|12 : 6 6
D.Dippel/R.Dippel 0 2|1 2 2 0| 7 9 -2 C.Pati/S.Schneider 2 M.Goldbach/M.Meger 2 H.Meyer/B,Rodehau 1 - H.Meyer/B,Rodehau 2
A.Aukam/T.Miiller 1 2 2 0| 2 0 2 013 : 3 10 0 0 0 0 C.Pati/S.Schneider 2| | 0 0
M.Goldbach/M.Meger 0 2|1 2|1 2 2 0|7 : 10| -3
R.Boost/U.Kruggel 1 2|1 2|2 0 2 0]10 : 6 4 D.Dippel/R.Dippel 0 - C.Pati/S.Schneider 2 - D.Dippel/R.Dippel 2 R.Boost/U.Kruggel 2
0 0 2|0 210 2 2 0|2 : 12| -10 R.Boost/U.Kruggel 2 | | D.Dippel/R.Dippel 1 | | 0 0 0 0
0 0 2|0 2|0 2 0 14 | -14
A.Aukam/T.Miller 2 - R.Boost/U.Kruggel 2 C.Pati/S.Schneider 2 - H.Meyer/B,Rodehau 2
Sieger M.Goldbach/M.Meger 1 | | 0 0 R.Boost/U.Kruggel 1 | | D.Dippel/R.Dippel 0
Teilnehmer 1: H.Meyer/B,Rodehau A.Aukam/T.Mller
2 Platz 0 2 H.Meyer/B,Rodehau 2 - A.Aukam/T.Miiller 2 A.Aukam/T.Miiller 2
Teilnehmer 2: H.Meyer/B,Rodeh 0 0 A.Aukam/T.Miiller 1 | | 0 0 R.Boost/U.Kruggel 0
3. Platz
Teilnehmer 3: D.Dippel/R.Dippel H.Meyer/B,Rodehau 2 - M.Goldbach/M.Meger 0 - H.Meyer/B,Rodehau 2 - M.Goldbach/M.Meger 2
4. Platz R.Boost/U.Kruggel 1 | | R.Boost/U.Kruggel 2 | | M.Goldbach/M.Meger 0 | | 0 0
Teilnehmer 4: A.Aukam/T .Miiller R.Boost/U.Kruggel
5. Platz C.Pati/S.Schneider 2 - A.Aukam/T.Miiller 2 C.Pati/S.Schneider 0 - C.Pati/S.Schneider 2
Teilnehmer 5: M.Goldbach/M.Meger D.Dippel/R.Dippel M.Goldbach/M.Meger 1 | | 0 0 A.Aukam/T.Muller 2 | | 0 0
6. Platz
Teilnehmer 6: R.Boost/U.Kruggel M.Goldbach/M.Meger
7. Platz
8. Platz
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” Sétze Diff Punkte J.Goldbach/A.Kahl 2 D.Stiickrath/S.Hass 1 D.Stiickrath/S.Hass 2 D.Stiickrath/S.Hass 1
J.Goldbach/A.Kahl 0 2|2 0 2 0| 8 6 2 8 : 6 0 0 B.Herder/U.Klos 2 0 0 B.Herzog/D.Dargatz 2
J.Bindernagel/A.Eil 2 0 2 1 2 012 : 3 9 12 @ 2
D.Stiickrath/S.Hass 0 2|1 2 2 0|7 : 10| -3 4 : 10 J.Bindernagel/A.Eil 2 B.Herzog/D.Dargatz 2 J.Goldbach/A.Kahl 0 J.Goldbach/A.Kahl 2
B.Herder/U.Klos 0 2|0 2|2 1 2 0] 9 8 1 8 : 6 0 0 0 0 J.Bindernagel/A.Eil 2 0 0
B.Herzog/D.Dargatz 2 0|2 : 0|2 1 2 013 : 3 10 |12 @ 2
U.Koch/M.Stelzer 2 0|0 2|2 0 2 0]10 : 5 5 10 : 4 D.Stiickrath/S.Hass 0 J.Bindernagel/A.Eil 2 D.Stiickrath/S.Hass 2 U.Koch/M.Stelzer 2
0 0 2|0 210 2 2 0|2 :12| -10| 2 : 12 U.Koch/M.Stelzer 2 D.Stiickrath/S.Hass 1 0 0 0 0
0 0 2|0 2|0 2 0 14| -14 [ 0 : 14
B.Herder/U.Klos 2 U.Koch/M.Stelzer 2 J.Bindernagel/A.Eil 2 J.Goldbach/A.Kahl 2
Sieger B.Herzog/D.Dargatz 1 0 0 U.Koch/M.Stelzer 0 D.Stuickrath/S.Hass 0
Teilnehmer 1: J.Goldbach/A.Kahl B.Herzog/D.Dargatz
2 Platz 0 2 J.Goldbach/A.Kahl 2 B.Herder/U Klos 2 B.Herder/U.Klos 1
Teilnehmer 2: J.Bindernagel/A.Eil J.Bindernagel/A.Eil 0 0 B.Herder/U.Klos 0 0 0 U.Koch/M.Stelzer 2
3. Platz
Teilnehmer 3: D.Stiickrath/S.Hass Koch/M.Stelzer J.Goldbach/A.Kahl 0 B.Herzog/D.Dargatz 2 J.Goldbach/A.Kahl 0 B.Herzog/D.Dargatz 2
4. Platz U.Koch/M.Stelzer 2 U.Koch/M.Stelzer 0 B.Herzog/D.Dargatz 2 0 0
Teilnehmer 4: B.Herder/U.Klos J.Goldbach/A.Kahl
5. Platz J.Bindernagel/A.Eil 0 B.Herder/U.Klos 2 J.Bindernagel/A.Eil 2 J.Bindernagel/A.Eil 2
Teilnehmer 5: B.Herzog/D.Dargatz B.Herder/U.Klos B.Herzog/D.Dargatz 2 0 0 B.Herder/U.Klos 0 0 0
6. Platz
Teilnehmer 6: U.Koch/M.Stelzer D.Stuckrath/S.Hass
7. Platz
8. Platz




Final

R.Luttmann/N.Assmann

O.Berger/P.Kahle

C4

R.Boost/U.Kruggel

B.Herzog/D.Dargatz

Achtelfinal Viertelfinal
Al R.Luttmann/N.Assmann 2
B4 T.Sommer/A.Ascher 0 R.Luttmann/N.Assmann Halbfinal
C2 H.Meyer/B,Rodehau 0 U.Koch/M.Stelzer
D3 U.Koch/M.Stelzer 2 R.Luttmann/N.Assmann
A3 H.Hobirk/T.Sandmeier 1 P-Schonreich/M.Knéller
Bz P-Schonreich/M.Kndéller 2 P-Schonreich/M.Kndéller
Cl A.Aukam/T.Mller 2 A.Aukam/T.Miller
D4 | 3.Goldbach/AKahl 0
A4 T.Seidel/M.Sander 0
Bl O.Berger/P.Kahle 2 O.Berger/P.Kahle
C3 C.Pati/S.Schneider 2 C.Pati/S.Schneider
D2 J.Bindernagel/A.Eil 0 O.Berger/P.Kahle
A2 V.Czuberny/M.Kothe 2 B.Herzog/D.Dargatz
83 A.Wekkeli/D.Wrobel 0 V.Czuberny/M.Kothe
0
2

D1

B.Herzog/D.Dargatz

N

3.Platz

P-Schoénreich/M.Knoller

B.Herzog/D.Dargatz




